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УСТНЫЙ 
СЧЕТ



 



Ответ:уравнение 
квадратное; а=3;

в=-8; с=-3. 
Д = 100;  2 

корня.



 



Ответ:
Д=-47; 

нет корней.



 



Ответ: 
уравнение 
квадратное, 
приведенное;  

2 корня.



 



 



 



Ответ: 
х=0: х=4.



 



Ответ: 
квадратное 

неполное; х=0



(х – 2)(х + 3) = 
0



Ответ: 
 х=2; х=-3.



Проверочная 
работа



ОТВЕТЫ
      Вариант 1     

 1.         0       и        -5

 2.
 3.         1       и        4
 4.         1,5    и     9

 5.        1       и     -0,4

 6.          нет корней
 7.        2       и        -4,8

             Вариант 2
 1.               0     и    4

 2.

 3.           3      и      1
  4.

   5.

  6.            нет корней

  7. 



Оценивание работ: 
Оценка «5»:
 6-7 плюсов 
Оценка «4»: 
 4-5 плюсов; 
Оценка «3»: 

 3 плюса;
       Оценка «2»:  меньше 3 

плюсов.



Итог урока.



СПАСИБО
ЗА УРОК!


